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1. Answer the following as directed : 1x8=8
(a) Name the author of the book,
Anthropogeographie.

(b) The proportion of the breadth to length
of human head in percentage is
called :

( Fill in the blank)

(c) The Sino-Tibetan / Indo-European /
Latin family of languages is most
dominant in the world.

( Choose the correct answer )
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(d)

(e)

(9)

(h)

(2)

Which hemisphere has 90% of the world
population?

When the number of people is less than
the available resources, it is
called ;

(Fill in the blank )

Compact / Semi-compact / Dispersed

settlements develop in the hilly areas.

( Choose the correct answer )

Metropolitan’ cities are also called
million /billion cities.

( Choose the correct answer )

Ackermans / Zelinsky introduced the
factor of technology in the study of
population resource regions.

( Choose the correct answer )

2. Write short notes on the following (within
150 words each) : 4x5=20

(@)

(b)
(c)

(d)
(e)
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Contemporary relevance of human
geography
Space and society

Stage 1 of Demographic Transition
Theory

Classification of urban settlements

Concept of optimum population

( Continued )



(3)

Answer the following (within 450 words each) :

3.

Define Human Geography. Discuss the major
themes of Human Geography-.

Or

Discuss the meaning, scope and subject

3+10=13

matter of Human Geography. 13
Give an account of the world classification of
religion. 13
Or
Divide the world into cultural regions and
describe them with their significance. 13
Discuss the factors affecting the growth and
distribution of world population with
examples. 13
Or
What do you mean by population
composition? Discuss the factors of
population composition. 3+10=13

1371 = &




6.

(T48)

What is settlement? What are the

various
with

types of rural settlements? Discuss
2+8+3=13

examples.
Or

Define urbanization. Discuss the tre
pattern of world urbanization.
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